
1. √
3 ×
√
9 ×
√
27 ×

√
15 ×

√
20 ×

√
21 을 간단히 하면?

① 90
√
7 ② 270

√
7 ③ 810

√
7

④ 90 ⑤ 270

(준식)
=
√
3 × 3 × 3

√
3 ×
√
3 ×
√
5 × 2

√
5 ×
√
3 ×
√
7

= 81 × 5 × 2
√
7

= 810
√
7

해설



2. 다음 보기 중에서 옳지 않은 것은?

①
√
8 −
√
18 +

√
32 = 3

√
2

②
√
27 −

√
48 +

√
75 = 4

√
3

③ − 2√
2
+

32√
32

= 4
√
2

④
√
5 +
√
125 −

√
32 + 3

√
2 = 6

√
5 −
√
2

⑤
√
12 + 3

√
3 −
√
7 +
√
63 = 5

√
3 + 2

√
7

③ 3
√
2

해설



3. 다음 중 옳지 않은 것은?

①

√
15√
3

=
√
5 ②

√
120√
6

= 2
√
5

③

√
48√
3

= 4 ④

√
200√
5

= 4
√
10

⑤

√
18√
2

= 3

②

√
120√
6

=
√
20 = 2

√
5

③

√
48√
3

=
√
16 = 4

④

√
200√
5

=
√
40 = 2

√
10

⑤

√
18√
2

=
√
9 = 3

해설



4. √
6 ×
√
3 ÷
√
12 을 간단히 한 것은?

①
√
2 ② 2

√
2 ③ 3

√
2 ④

√
6

2
⑤ 2

√
2

√
6 ×

√
3√
12

=

…
6 × 3
12

=

…
18

12
=

…
3

2
=

√
6

2

해설



5. ab = 2 일 때, a
…

8b
a

+ b
…

32a
b

의 값은? (단, a > 0, b > 0 )

① 2 ② 4 ③ 5 ④ 12 ⑤ 24

a
…

8b
a

+ b
…

32a
b

= a

√
8b × √a√
a × √a

+ b

√
32a ×

√
b√

b ×
√

b

=
√
8ab +

√
32ab

ab = 2를 대입하면√
8ab +

√
32ab =

√
16 +

√
64 = 4 + 8 = 12

해설


